#pakeityorg@-  Rawalpindi Board-2024

‘—— ni‘{" ;ﬁﬁf? Roll No7»/{ &%0 be filled in by the candidate HSSC-{P-1I)- A-2024 Paper CTode é 1 9 5
0 (For All Sessions) ) ) .
Mathem atlcs (Objective) (GROUP-I) Time: 30 Minutes  Marks : 20

Note: Write Answers to the Questions on the objective answer sheet provided. Four possible answers A, B, C and D to eaph question are giveq. Which
answer you consider correct, fill the corresponding circle A, B, C or D given in front of 2ach question with Marker or Pen ink on the answer sheet provided.

14 Midpoint of A(2,0), B(0,2) is: () 0,2) (6) (2,0) ) (2,2) 0 @ (LD

2. The___pointsatisfiesx + 2y <6 (A (4,1) ) @ B © (1, 3) (0} (1,4)

3. Inaconic, the ratio of the distance ; : o
from a fixed point to the distance W Focus & Vertex € @ Ecenticity o Centre

from a fixed line is:

}’2;1 0 x2 y?

4. Standard equation of Parabola is: N @®y*=4ax [ x+y*=a® [ LS —+=s=1
a? b . a? b2

5. Equation of tangent to circle W@ +yn=a B xg-ypn=a [ Lo tyn=a ) xy-yq=d
x2 +y? = a? at P(xy,y,) is: ) L I

6. Thevolumeof paralielopiped=___. (N @ @xv)eo [ (@Xx)xw [  ux@Xw) 0 ux@xy)

7. The non-zero vectors are () wv=1 #®) |u-. "l =1 0@ wv=0 ] uv:#0
perpendicular when: - TR _ '

B jxk=___ N e i ® - w 0 o k

9. Therangeof f(x) = 2+vx—1is: () [1 +00) B @ [2+) /[Q (1, +c0) ) (2, +0)

function of ifs area A:

! — 3 . O - =
10.  The perimeter P of square as a 0] N b @ 4%‘4 &w VA (0} 2V4

41, SR ey o 1 \ -2 3
ffe)=Stenf@=____. @ = B 0 0 @ 5 0 57

2. 1f(c)=0&f"(c) > OthenCis () Maxima %)‘ Minima © Inflection ) Constant
AN

point of: /
d 1@ Ina 1 -1
3. — ) = — { et . = D! o
7z (0gax) = . [ W ) = © " 0 porgn
P
14 d \\)
' ™ (cotax) = ; ensec?ax B  acosec’ax (0} @ —acosec’ax () —acosecax
* O\
1
f5. f —— dx = . #) @sin~lx+c B Cos™x +c ) —=Sinlx+c [ =Cos*x+c
N H @ 8) © {0)
. 1 1 1 1
16. f-x-dx= . N g nx+tc @ e L L ~+¢
7. The solution of differential equation
d ; y =xe” y=ce” y=e y=ce
y 4 x 6 @ * © x 0) *
== —yis
dx
2 2 3
i T T T
18. X = — — 0 bl D
b e e B X © T B o=
0
x — intercept of the line 1
" ! 2 0 3 o @ 1 o =
2x+ 5y —1=0is: 2 5
2. Slope of y — axis is: 1) 0 ) 1 ©) -1 (0) @ Undefined
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Roll No to be filled in by the candidate HSSC-(P-II)-AI2024 Marks : 80
, (For All Sessions) -
Mathematics(subjective) (GROUP-) ‘ _ ~ Time: 2:30 hours
SECTION-I o@ pakcity.org %o
2. Write short answers of any eight parts from the following: ﬁ b (8x2=16)
i ff(x)=2x+1,thenfind fof (x). i. Express the area A of a circle as a function of its circumference C.
fii.  Evaluate };im ——“’”:’:‘E iv.  Define continuous function.
-0
2 R , _
v. Differentiate (\/Sc' - —‘/1?) w.r.tx vi. Find d_Z'f y2—xy~x*+4=0
vii. Differentiate x2sec4xw.r.t x viii. Differentiate sin®xw.r.t. cos*x
ix. Find f(x)if f (x) = e*(1 + Inx) x. Findy,if y = In(x* - 9)
¥i. Provethatin(l+x) = x — i:— + ’;—3 - f;— 4.+ xi. Determingthe infervalin which f(x) = cosx is decreasing; x € (-— = %)
3. Write short answers of any eight parts from the following: (812=16)

Vii.

Vi,

Xi.

Xil.

vil.

Solve the differential equation sec? x tan y dx + sec’ytanx dy = 0

Find the area between x — axis and the curve y-= x2 + Lfrom.x = Ttox =

e

Evaluate:
|

x Inx dx iv. Evaluate gt@ﬁ i

Evaluate: [ (\/} -vi;)z dx V%@te the integral [ (a s 2%) 32 dx

Find the approximate change in the volume of a @@ngm of its each edge changes from 5 to 5.02.
O

i

-2 = 0 into normal form.

(0, —2) are vertices of a right triangie.

Show that the points A(0, 2 ),’-B(\/'?; %)
Convert the equation of line 4 s

Fine the angle from the line wnth slope = to the line with slope—

Find the pair of lines represented by 3x2 + 7xy + 2y* = 0.

Find the point of intersection of lines 3x + y + 12 = 0andx + 2y -1 =0.

Write short answers of any nine parts from the following: (9x2=18)
Define feasible region. ii. Graph the solution set of in-equality 3x + 7y > 21.

Find equation of circle with ends of diameter at (—3, 2) and (5, —6) .

Write down equation of tangent to the circle x% + y? = 25at (5 cos8, 5 sinf)

Find focus and vertex of Parabola x* = 4(y —1)  vi. Find equation of ellipse with data Foci (+3, 0) Minor axis of length 10.
Find center of hyperbolax? — y? + 8x — 2y — 10 = 0
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viii.

(b)

6. (a)
(b)
1.(a)

(b)

Rawalpindi Board-2024

Find equation of Normal to y? = 4ax at (at?, 2at). R

Find the sum of vector AB and CD given four points A(1, —1)B(2, 0)C(~1,3) and D(-2,2) g pakcnty.org %D

Find oc, sothat | oc { + (x +1)j + 2k|=3 xii. Iz is a vector for which v. i = Ov.j = Ov.k = 0, find v

Find the area of triangle determined by the points P(0,0,0) Q(2,3,2) and R(-1,1,4)
Find the value of 2¢ x 2/.k
SECTION:II

Attempt any three questions. Each question carries equal marks:

Find the values of m and n, so that given function f mx; ifx<3
is continuous atx = 3 when fx) n, ifx=3
-2x+9, ifx>3

. 3
Find %, when x = 2480, - 20t @

1+t2

1+t2 @
ify = (cos™x)?, prove that (1 — x%)y, — xy; — 2 5&9%
Evaluate the integral [ e*sinx cosx dx. @

Solve the differential equation y — x % i QQ

Show that the circles: x2 + y2 +.2x — 8 = 0; x? + y? — 6x + 6y — 46 = 0 touch internally.
Using vector method, for any triangle ABC, prove that: ¢ = a? + b% — 2ab cosC.

Find the focus, vertex:and directrix of the Parabola; x* = 4(y — 1)

" Find the lines represented by 3x? + 7xy + 2y? = 0 and also find measure of the angle between them.

618-12-A
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HSSC-(P-IT)- A-2024 N I

Reoll No (For All Sessions) Paper Code | 8 1 ¢ J 4

Mathematics (obijecti Time: 30 Minutes ~ Marks : 20
(Objective) (GROUP-II)

Note: Write Answers to the Questions on the objective answer sheet provided. Four possible answers A, B, C and D to each question are given. Which answer
you consider correct, fill the corresponding circle A, B, C or D given in front of each question with Marker or Pen ink on the answer sheet provided.

11 ifr = 0, the circle is called: # Unit circle @) Circle ¥ Ellipse 0 @ Point circle
2 [i i k]= 0] i ® ~ © 1 b e o
o Hg=Zi~jrlp=4+3~k 4 u? B ® o ( 1 o 2
thenu X u= .
4. If u, v are two non-zero vectors 1 1 1
“X Y ] - = 3 _r
then area of parallelogram = W e lex gl ® 2 hi"x 2' © 6 h—l xy 0 X v
 Ifkis any real : - lim f(x limk ® ilimfix Dl
5 b limkf (x)] 1 lim £ (x) ] lim © lim f(x) ] j163)
6. f(fx)=x+3then limsf)- W @ 6 ® 0 © ~3 0 3
7. My =e/@thent= 0 ef® B fRe® f(x)e/® 0 @ Fix)e!®
8. Derivative of xvVx2 + 3w.7.t xis: N e 2x2+3 B 3x 0 3x2+3 0 _Exz +3
x?+3 2Vx2 +3 xVx?+3 2xVx*+3
9 Derivative of tanh (x2) is: (% 2xsech®’x (B}  2sech®x? Q@ 2x sech?x? ) sech?x?
0. Derivative of "x" w.r.t"x" s: " i ®) %\ U H @ 1
1. Inintegration, substitution of vi4 — x‘l st (A x =:sinf (B) y@)wﬂ ) x = sin20 D)  x==2cos@
12. j Tanx dx = ] Incosx: +;§@> p——al & @ —injcosx|+c ) Sec’x+c
13. Solution of differential equation: (e* + e”‘) g™ O
(ex + e—;*:)z

) ~In(e*+e™*)+c & (e* - 9“3‘) Ha CP® in(e*+ é"‘) +c ) 7

" Cin2 ‘ 2

. f SinxCos x dx = He S‘; 'y VY C"; *re O  ~Sinx+c [ Cosx+c

15. Theline:ay + b = 0is (A}  Parallelto y-axis (B) @ Parallel to x-axis (C)  Passing throughorigin -~ ()  Liesin Quad. I

16.  The slope of line joining the points W @ 1 B -1 © 45° 0) —45°
(=2,4); (5,11)is:

17, Thelocation of the plane of the point Origin ®) y — axis F @ x-—axis 0)  Ist Quad
P(x,y) forwhichy = 0 at:

18, The maximum and minimum values () Comer point  (§) Any point © Convex region 0) ®comer points of
occur at: : feasible region

19, The line ntersectthe circle at. N Onepont [ @Twoponis [  inniopons @ More e

2. Diameter of circle:x? +y2 = 16is: 4 @ 8 B 4 © 16 0] 32

619-12-A
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to be filled in by the candidate HSSC-(P-1l)-A/2024 Marics : 80

Rol! No . .
. (For All Sessions) a@ pakcity.org o
Mathematics (subjective) cROVRL & “Time: 2:30 hours
SECTION-
2. Write short answers of any eight parts from the following: (8:2=16)
; B : P . 3
i.  Define even function with example. ii. Find fog(x)if f(x) =2x+1,g(x) = x#1
i, Evalale: lim Jx-vZ iv. Prove that Sinh2x = 2 Sinhx Coshx.
x -2 x-2
» . . . z ) z
V. Find %from first principles if y = ﬁ}:& vi. Differentiale w.r.t x; (_’:-z%L
vii. Find %if x2 —4xy -5y = 0. viii. Differentiate w.r.t 8; tan®8 sec?8.
. Find F(O) If f(x) = x3e . x. Findy,ify =2x% —3x* +4x° +x - 2.
xi. Apply Maclaurin Series expansion to prove that:
2 x* xS yi.  Find extreme values for f(x) = 3x?
cosx=1—-—7+——=+"
20 4 e
3. Write short answers of any eight parts from the following: (8x2=16)
" 1
i. Evaluate [ xVxZ —1dx i Use differentials to approximate the value of (31)s
mitan~x
ii. Evaluate: [ ﬁ dx iv. Evaluate the integral [ 5-—1-1;;— dx
v. Evaluate: f x vi. Find the area be axus and the curve y = 4x — x?
] x242
i, Solve the differential equation =2 = = (1 + y?) ‘ @O
Vi ’ q oxdx—z( Y %
viii.  The points A(~35, —2) and B(5,—4) are ends of a diaf circle; Find the centreand radius of circle.
ix.  The coordinates of a pointp are (=6, 9). The ax nslated through the point 0 (—3, 2). Find the coordinates
of p referred to the new axes. O
X.  Check whether the origin and the poi ) lies-on the same side or on the opposite sides of the fine 3x + 7y + 15 == 0
Xi. By means of slopes, show that ing points lie on the same line (—4, 6) ; (3,8) ; (10, 10).
xi. Determine the value of p such that the fines 2x — 3y —1=0,3x —y — 5 = 0and 3x + py + 8 = O meetata point.
4, Write short answers of any nine parts from the following: (9x2=18)
i.  Graph the solution set of 3y — 4 < 0in xy — plane. ii. Define convex region.
iii.  Find an equation of circle of radius a and lying in the second quadrant tangent to both the axes.
iv.  Find center and radius of circle 5x2 + 5y + 24x + 36y + 10 = 0.
V. Write down equation of normal to the circle x2 + y* = 25at (4, 3).
vi.  Find vertex and directrix of the parabola y? = —12x.
vii.  Find the point of intersection of conics x? + y? = 8and x2 —y% = 1.
Vill. " Find center and foci of hyperbola ?"_:. —x2=1. X Find a vector of magnitude 4 and is parallel to 2{ — 3j + 6k.
X.  Find direction cosines of PQ where P = (2,1,5)and @ = (1,3, 1).
xi.

Xi.

Find volume of parallelopiped whose edges areu = i — 2j + 3k, v =2i —j—k andw=j+k

Find the value of [K i j], Xii. Find &< 50 thatu =o¢ i +2 o j ~ kand v = i+o¢ j + 3k arc perpendicular.
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C'@i i %o SECTION-ll

Aftempt any three questions. Each question carries equal marks:
Evaluate: lim tanf — sinf (b) Differentiate cosvx from the first principle.  (5+5)

6-~0  sin®8
Show that y == E has maximumvalue atx = ¢ (®)  Evaluate: fx3cosxdx
(b) Minimize 2 = 2x + v subject to constraints (5+5)

cosx dx ir x+y=3 7x+5y<35
sinx (2 + sinx) x>0 y

Find the coordinates of the points of intersection of the line x + Z}é@@\e corcle: x> +y2 —2x—-2y-39=0 ()
fa=4i+3j+kandb =2i—j+2k. Find a unit v@)erpendicular to both'a and b. Also find the (5)

sine of the angle between them. "
Find the focus, veriex and directrix of the Par. ?+ 8—y2+2y=0" (5)

' ?ngle whose vertices are A(—2, 3) B(-4,1) 24 C(3.5). )
“520-12-A |

(10x3=30)

(5+5)

Evaluate:

O\l‘-i\__\. iy

FFind coordinates of the circumcenter :

Please visit for more data at: www.pakcity.org
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A PeReI org HSSC-(P-11)-A/2023 | PaperCode | & 1] 9 | 1 |
] Roll No to be filled ln‘by th 2 candidare ] (F{H’ All SCSSEOHS)

(G'mup-ﬁ) Tinve: 30 Minudlcy

Mathematics (objective)

VEavks ¢ 20

Note: Wate Answers 1o the Questions on th objective answer she'et provided. Four possible answers A, B, C and D 1o each question are given. Which
answer you consider carrect, fill the correspaiding circle A, B, C or D given in ifont of each question with Markar or Pen ink on the answer sheet provided.

?J._l

1.1 1}“5 E’_; LA (A) 1 (8) 2 (©) 0 (D) -2
2, cos hx + ';mhx 4 (A) e* (B) g™ (€) i D) 2e*
2 = —— T o
3 - | =2 A ln2 B 2% —
m- " [In(2%)] - _(_ _)_ " (8) ) () =
4. ‘-;{- (cos hx) =? (A) -—sinhx (B) sin Ax (C//'TJ\ \[ﬁ cosec hx

5. Iff(x) =/, then f* (0) (A) : 0-” (8) 1 \%flned\ (E

6. (TE (sin"? x 4 cos™x) =7 (A) 1 (B) ‘/\(\\ (5\ =k (D)

SR s Jl .
<
i j odx =" (A) X (B) \ 1/ % x? / \\(D) \§

8. j e*(x+ ) dx =? A xe*+c (B) M\%C) +c (D)\—/
: - 2 o

n

a4

9. J cosx do: =? /A) 1 (D) 2
T - = s sl g o - .I - - _\/ PRI
10. ji{{‘_ﬂ dx =? ( @ N\ ¢ y lsinx +c¢ (D) ,lc.‘as:r +
sinx \ 2
11, The slope of AMe x = 5 is: KR -1 )  Infinite
12, Midpoint off0, -2) an}t\z DR (A) , \ ‘ (=2,-2) ()  (0,~1)
/
13.  Distance (-1, 2)\&\ ¥ o
A 73 B 7 C : D 73

(7 Snf“‘”\ W ‘ ()/ © wE O
14, The solution ufinequah 4 . )

Sl By \ }D\ wa VB @y © an O @9
15 Eq;t:on of Tangent to x* + \ 7 o

y? = 4al(2, 0)is: \(A} /1 B =1t =2 ) x=2
16 S!ope of tangant to parabola {/ )

y* = 4ax al (a, 2a) is. s 2 () i (C) 1 ) 3
17 Eccentricity e of a circle 1s: (A) e=90 (B) e=1 (C} o0<e<1 (D) e>1
18, Radius of a circle x* + y? = 2is:  (A) 2 {B) 1 (€) 1, (D) V2
19. ¥P:=(2,3).0 =(6.-2), A Jis . B Ji3 e Jai b

then [PQ] is (A 1 (8) 42 (C) 41 (D) Va3
20.  Foravector V = 2 + 3] — 6k, 3 2 6 3

(A) 5 ®) > (€) -3 (D) -3

then cos f§ =7

621-12-A-
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: s (For All Sessions)
hematics (Subjective) (GROUP-) Time: 2:30 hours
. secriond Rawalpindi Board-2023
2. | Write short answers of any eight parts from the following: - (8x2=16) B
i. Express perimeter P of a square as a function of its areaA. . Evaluate lim, sinx? kci
b - : pakcity.org
i. Define even function with example. 4 p
V. Ify=x*+2x2 + 2, prove that =2 = 4x [y =1 V..~ Find derivative by definton =
Vi. Find ‘:—: xy+y:=2 vii. Differentiate w.rt x, y = x%secdx
vill. - Differentiate w.rtx, y = cot™ (-‘;5) iX.  Find 5’1- ify = xVine—
A Apply the Maclaurin series to prove that e = 1 + 2x + — + 5'3—3 + - ’ 4 —h
xi. Graph the solution set of 2x + y < &. xii. Deﬁne feasible regian. \
3. Write short answers of any eight parts from the following “(Bx2=1q)
Y
i. Evaluate [ tan®xdx.
iii. Evaluate [ x sinxdx.
V- Solve the differential equation y dx +xdy =0
viil.  Find the areas between the x — axic and the curve y = x? + 1fip
Viil. - Find a unit vector in the direction of
X. Find c¢, so that vector u = 2
xi.  Find the area of parallelogram hos
Xii. Aforce F =7i+4j—3kis
4.  Write shor answers of
L Is (V176,
i. By meang of slopesishow th
i.  Find K/spthat the line
iv. Find tHe 9
v. Find the point of i
vi.  Find equation of lines rep
vii.  Find the measure of the angle.between th
viil. ~ Find an equation of the circle withends of d
ix. Showthattheline 2x + 3y — 1
X.  Check the position of the point (578 with respect to the circle x* + y* = 81.
xi. Find focus and directrix of the parabola x? = —16y
xii. Find an equation of ellipse if foci (= 3v/3, O)and vertices (6, 0).
xiil. Find equation of hyperbola with given data foci (0, +9) , directrices y = +4
SECTION-II
Note Attempt any three questions. Each question carries equal marks: (10x3=30)
. Yy -C o 2
S.(0) Bvauate: - 200X = Z07F ®) ify = tan (2 tan™* Z), then show that = = 4(-2)
6.(a) Evaluate: dx (b) Find equation of line through intersection of x + 2y + 3 = 0,
1 NG 3x + 4y + 7 = 0 and making equal intercepts on the axes.
5 Sinx + = Cosx
7.(a) Find the area bounded by the curve f(x) = x3 = 2x* + land x ~ axis in the 1stquadrant.
(b) Minimize Z = 3x + y subject fo the constraints  3x + Sy =215 x+6y=29 x20,y=20
8.(a) Ify = acos(inx) + b sin (Inx) prove ihat:rz— - x + y=0
(b) Find the coordinates of the points of intersection of the line 2x +y = Sandthe circle x> + y? + 2x = 9 =0,
also find the length of intercepted cliord.
9(a) Find the-centre foci , accentricity and vertices of the ellipse -

to be filled in by the candidate | HSSCH(P-Il)-Ar2023 Marks : 80

w2t 4fv+ Avi ARV +76=0 -
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, RollNo , to be filled in by the candidate (FG r All SGSS iU llb’]
fn

Mathematics (objective)

Note: Write Answers 1o the Questions on thie objective answer sheet
answer you consider correct, fll the corresponding circle A, B, C or D gi

HSSC-(P-11)-A/2023 [_ Paper Code

|

Time: 30 Minutes

Iviarks ; 20

provided. Four possible answers A, B, C and D to each question are given. Which
ven in front of each question with Marker or Pen ink on the answer sheet provided.

1.1 Midpoint of A(1,2) & B(3.8) is:  (A) (2,5) B (4100 () (2,6) ) (2,8)
(1, —3) is in the solution of . i
2. A x+y=21 (B x+y<0 (€ x+y=0 D) x—-y=0
] Centre of circle A g 5 " 3.2 c 3 2 ) Gl -
b rtdy13s0 (A) (3.2) ® (=32) () (-—) 0 (-3,-2)
4, Focus of parabola x2 = 4ayis:  (A) (—a,0) B8) (0, —a) (9)/ (a K \ (D) (0,a)
5. Eccentricity e for hyperbolais:  (A) e=1 (B) e=0 {(c < 2 < 1\ / D) e>0
6. Length of major axis of - TS
2 2 A 03 B 02 D %
2 g ® ®) ( oo
9 4 _ g >,
7. Which one is not scalar quantity:  (A) Work \ Time m%w Magneli(c fi e!d\ (D) \’?pee}!
N
ke RN SN
9. il_.nél Vx3+1—+/x2+5 ),._\1 Q(k “\J\O (C) 32 (D) -2
10.  Area of circle of unit radius is: (Fr'\\ \)(B) ?%12/ {(i]/\ rr\‘\ (D) 2m?
1", _d? — ( @W W N9 @ o
Lagrange us notahgﬁ)\) .
B D
1 for denvattg\ ; Df(x\ # / L& . f(XJ 5 _ 1
13. fx cas?é = ---—-—-—\ (A 7S8in7 Mf =7 h??x ©) 7 Cos 7x ) —7Cos7x
. b \\ P
14, Minimdf value ffur:nction \ 5 . ity o . i -
f(x) =x*+2x —Yjsatx =N
18, j T :xz dx = \ W +c B) Cos7'x+c¢ (€) Tan'x+c () Cot™'x+c
N\ o
B idr=— )(m/—%w: B e @ Zic @ Zie
L - & 2 o - -
17. Solutlonofa=1:s : A} y=x*4+c (B) y=e*+c (0 =lnx+c (0 y==x+c
B fpaxtax=___ (4) 3 () 1 (c) 2 (0) 0
19. E?ua.tlon of line through origin W 2c-y=0 B 2x+y=0 (0 x+2y=0 @ x- 2y =0
with slope 2:
20.  Slope of line parallel to y-axis: ~ (A) -1 {B) 0 (C) oo (D) 1

623-12-A-
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iematics (Subjective) (For All Sessions) R Time: 2:30 hours
SECTION-| R -
Write short answers of any eight parts from the following: awal pI ndi Board-2023 (8xz= 16)
i. Express perimeter P of a square as @ function ofitsarea A, ii. If f(x) = (=x + 9)* find £~ (x)
iii. ~ Find limkg';iz?- iv. Differentiate wrt "x" (Vx — )
x=0 x Jx
v. lfy=vx++x find g{- vi. Find % if x =y Siny =
. £ z s —n 1! o r _ 1’ 2 E!,Z -
Vi, Find fQ) i f(x) = x3.e vii Ify =x%In (X),fmd o 9@ pakcnty.org %o
' — sin k-1 (%) Find 2 = €
ix. Ify=3Sinh (2) ,Find ==
X.  Apply the Maclaurin series to prove that: Vi+x=1+ g - "8—2 S
xi. Graph the solution set of linear inequality in xy - plane, 2x +y < 6
xii. Whatis a feasible solution?
3. Write short answers of any eight parts from the following: (8x2=16)
i ina di i 4 ond 22 for 12 - i Ly a=v)?
. Using differentials find 5 and == for ¢* + 2y* = 16 i Evaluate: \*—2=— dx
iii. Evaluate: [ —jxi—}_adx iv. é&a{ya!e: [ tan™txdx
V. Evaluate: f{‘_S;('Ji"i vl Evaiu}es 2 %
x+3)(2x-1
j AT e
- : ' . dy _ yi+1 @
vii.  Solve the dif[tfntlal e_q-tiatlon i (
vi  Find sum of AB and €D wheya’A(l, -1), B(2)\), C(-1,3)ahd\B4-2,2)
ix. Find direction Cosines of vectpr V=3i-j+ 2k 2N
x. Find «sothat U = 2 oc i 4 j 7k and ¥ = nd pagpengicllar
Xi. Computegxgandp_ng}=g+i, s i< ) .
xii. Find volum ' 51’_ <i=2j+3kandw =i-7]~ 4k
4. Write sh . B‘ (9x2=18)
. The point C(—5, : . 2)lies oprthe circle. What is the radius of the circle.
i. Show B (3, —1)and (0, —2)are verfices of a right triange.
iii. The pefnts P(—=2, 6) an —3,2) are givenin xy — cg}:ﬁinate system. Find the XY — Coordinte of P
referred to the translated axes @Xand OY.
iv. Find an equation of\the line thr igh (=5, -3)and (9, -1).
v. Convert4x +7y—2x0in slopesipterceptyorm. -
Vi Find the lines represented bn3x* <- 7xy y2e= 0
vii. Find the point of intersection of the lineg X + y +12=0andx+2y~1=0
vii. Find center and radius of circle 5x° 5y + 14x + 12y =10 =0
i.  Find focus and vertex of para y:= -12x
. Find foci of an ellipse 9x* + y* = 18
X Eind eccentrcity of hyperbola, = - x? =1
xii. Wite parametric equations of hype! bola.
«ii. Write down equation of tangent to the circle x% +y* = 25at(4,3).
SECTION-I
Note Attempt any three questions. Each question carries equal marks: (10x3=30)
() Evauate: g SOX 0% b Find it x/THy + VT Fx =0
6.(a) Evaluate: X __ (b) Find equation of the line through (5, —8)and perpendicular to
J m‘;ﬁ cx the join of A(—15,—8) and B(10,7).
7.(@) Solve the differential equation (y - X %) =2(v*+ %
(b) Graph the feasible region of the following system of linear inequalities and find the corner points.
2x+y$10,x-l-4y512. x+2y<10 x20y =0
8.(2)  gnow thaty = ~— fias maximum value al x = e.
(b) Write an equation of the circle that passes through the given points A(4, 5), B(—4,-3),C(8,-3)
B - i | [ &y thBDara’DOla xz - 4x — 8)’ +4 = 0

-l thv & W
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IRoH No. 1o be filled in By the candidate. ] nter. (Part-1I)-A-2022
Mathematics (objective Type) (For all Sesslons) [ PaperCode [8[1[9[4]
Time: 30 Minutes Marks: 20
Note:  You have four choices for each objective type question as A, B, C and D. The choice which you think is

1.1

10.

11.

12.
13.

14,

15.

16.

17.

18.

19.

20.

correct, fill that circle in front of that question number. Use marker or pen to fill the circles. Cuthng or
filling two more circles will result in zero mark in that question. Attempt as many questions as given in

objective type question paper and leave others blank.
j‘sm s u@ pakcity.org %n

(A) fn|secx—tanx|+c (B) fn|secx+cotx|+c
(C) In|secx+cosecx|+c (D) fn|secx+tanx|+c
1
| § L
0
A) 1 B) 2 © o D) %
Solve -l-dy=-!-dx
y X

(A) y=xc B) y=-xc ©) y=xt+c D) xy=c
Distance between A(-1,2)and C(2,-6)is
&) V73 ®) V70 © 7 @) 8
If m; =m, then lines are
(A) perpendicular (B) not parallel
(C) parallel (D) neither parallel nor perpendicular
Slope of 12x + 35y — 7 =0 is
&) 1% s Ok O on
Normalfolmofx+y = l is @
(A) xcosE+ys L . (B) ysinE =1

3 3 2 0% 2

f f 1 @
(C) xcos—+ysin— +y=2

4 i 02
If P(x,y) = 40x+ 50y then P( ?
(A) 10 (B) 40 @ (C) 50 (D) -10
Centre of 5x*+ 5y + 24x OP10 = 0 is

(&) C12,-18) =] ©an ©) 12,18)
Axis of y? = —
A) y=0 B) y=a © x=0 (D) x=a
x2 }'2 .
Vertices of S R i 1 is
a b
(A) (b, 0) (B) (ab) ©) (+a, 0) (D) (-a, —-b)
Scalar triple product of coplaner vectors is
A 1 B) 0 C) 2 D) -1
2i x 2j. 2k =
(A) 4 (B) 2 ©) 8 D) 16
Which one is even function
(A) sinx (B) cosx (C) tanx (D) x'
If flx) = Vx2-9 ; then range of f(x) is
d
—— 2 =
shx 1
(A) 2*in2 (B) 2*fne (C) 2*in4 D) x2%
Leibniz used notation for derivative. :
@) f® ®) f'(x) (©) D fix) ® <
-&d; (cosec 7x) =

(A) cosec7xcot7x (B) —cosecx cotx (C) —7cosec7xcot7x (D) cosec7x tan7x
Which one is decreasing function

(A) 2-4x (B) 4x-2 ©) 4x D) 4x+5
d =
W T ) i (©) xdy+ydx D) xdy—ydx

Please visit for more data at: www.pakcity.org
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MATHEMATICS (Essay Type) (For All Sessions)
Time: 2:30 Hours SUBJECTIVE Marks: 80
c@ pakcnty Org SECTION - I
2. Write short answers to any EIGHT questlons. (2x8=16)
i- Search the domain and range from the real numbers of g(x) = x2~4

ii- The real valued functions f and g are defined below. Find (a) f2(x) (b) g(x),

F(x) = ﬁ‘___l; x#1, gx) = x2+1)

Lim 5% -10x2 +1
= -3x3 +10x? +50
Lim tan 6 — sin 0
6—>0 sin’0
v- Give any example and sketch graphically discontinuous function.
1+ (x—x7)
Jx

iii- Evaluate

iv- Evaluate

vi- Differentiate w.r. to ‘x’;

: a2+x2
2

. : dy .
vii- Find — if y =
dx 5 i =%

viii- Find the derivative w.r.t. variable involved cos+/x @:ﬁ
ix- Find f'(x) if f(x) = fn(\/e""+e o%(\\l)%

x- Produce y2 from y = ¢®sinbx
xi- Determine the intervals in which f is

creasing or decreasing;
f(x)= cosx Xe

16 centimeters. If one side is of length 6 cm, what are lengths
imum area of the triangle?

y EIGHT questions: (2x8=16)
i~ Use differential find % ; x4y = xy?

xii- The perimeter of a tri
of the other sides f
3. 'Write short answe

. er+ ex‘

X

—
L]

i dx

Evaluate
’ e

iii- Evaluate secx dx

iv- Evaluate sin~1x dx

v- Evaluate e* [l +£n x) dx
X

vi- Evaluate ___5x_+_§_____
J x+3)2x-1)
2

- . <

vii- Evaluate 3 dx
" X“+2

viii- Find the area between the x-axis and the curve y = sin2x from x = 0 to x = -g-

ix- Show that the points A (-1, 2); B(7,5) and C(2,—6) are vertices of a right triangle.
x- Find an equation of vertical line through (-5, 3)
xi- Convert 15y -8x+3=0in slopc-mterccpt form.
xii- Find the lines represented by ; x* — 2xy sec o +y? = 0
Please visit for more data at: www. pakcity.org
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4, Write short answers to any NINE questions: 2x9=18)
i- Indicate the solution set of inequality 3x -2y > 6 o@ pakcity.org %o

ii- What is objective function?

iti- Write an equation of circle with centre at ('J_ -3J3 3) and radius 242

V- Check the position of the point (5, 6) with respect to the circle x2 + y2 = 81

v- Find an equation of parabola with focus (-3, 1) and directrix x = 3

vi- Determine the equation of ellipse having foci (3, 0) and minor axis of length 10.

2
. . y? x
vii- Calculate the eccentricity of ~———=1
v 16 49
viii- Find an equation of the normal line to y> = 4ax at (at?, 2at)
ix- If O isorigin and OP = AB | find the point P when A and B are (-3, 7) and (1, 0)
Respectively
X- Write the direction cosines of v=2i+3j+4k

Xi- Prove that in any triangle ABC, a -bz+c2 2bc cos A
xii- If a+b+c=0, thenprovethat a xb=bxc=¢xa

xili- A force F= 3i+2j—4k is applied at a point (1, -1, 2). Find the moment of F about

the point (2, -1, 3) @@@

SECTION -1I %
Note: Attempt any three questions from the followi Q\Q 10x3=30

x=->0 x

S- (a) Show that limit 2"~ 1=10g@@$

O
(b) Showthat y = x* has value at x = -3;

x
(1+x)%(2+3x)
(b) Find the point which is equidistant from the point A(5, 3), B(-2,2) and C(4, 2).
What is radius of circumcircle of triangle ABC.
/]
7- () Find j' cos20 cot?0 d@
¥

(b) Minimize Z = 2x +y subject to constraints x+y >3, 7x+5y <35, x>0,y >0
8- (a) Find the area of the triangular region. Whose vertices are A(5, 3), B(-2, 2), C(4, 2)

(b) Find the length of the chord cut off from the line 2x +3y = 13 by the
circle X2 +y? = 26

6- (a) Integrate I

2 2 2 2

9- (a) Find equations of the common tangents to the two conics );_6 +d=1 and —+ b 1

25 25 9

(b) Use vectors, prove that the line segment joining the mid-points of two sides of a triangle
is parallel to the third side and half as long.

622-12-S-25670

Please visit for more data at: www.pakcity.org



Rawalpindi Board-2021

Inter<(Part-II) -A-2021

Roll No._

_to be filled in by the candidate. (FOI- a“ SGSSiOHS) Paper Code 3 1 9

Mathematics (Objective Type)

Time: 30 Minutes Marks:20
NOTE: Write answers to the questions on objective answer sheet provided: Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

question with Marker ar nen ink on the answer sheet provided. p .
1 pakcity.org

1-1. g (x)= 5 0 then gog/(}’f) equals.
(A) ) * © x* o »
. l—cos@
2 L’_I}g—e“'equals.

() zero ) | ©) 2 (D) 3

&

© 3

3. The derivalive of \/J_C at x=1ljs:
1

(CVEDY ®) 2 g‘-(é:;
1[;] @%@3
4 g(:;) equals. ) & = l
E ~E\R) T (l)
@. =0 5

» g*(x) ®) (g(x))’ ) g(x)
5. 1f y = 5€” then Y3 equals.
; P
(A) 25€x (B % 3 (C) 15¢* : \(l{ﬁe"
6. Iff(x"'h):COS(x"‘h)ihen f (x) equals. /
(A) COSX (B) —cosx (\C) —sinx (D) sinx
‘7. Inverse of I """"" dx is:
a A P @
(A) dy B) (€) gy (D) dy
b
8. ;[f(l) e equals:
/'& o —-a -b
(") —_!:f(x] o (B) J;f(x) 4 (C) -[f(x) € (D) _!f(x) dr
o L B 4
; Thyjeneral solution o e o is: . 3
Ry w=c @ x'y'=c @ 3=¢ ) e

Please visit for more data at: www.pakcity.org
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10. I e (cos x —sin x ) dx equals:
S 8 d/_, "
(A) ~¢" sinx+c (B) & cosx+c (C) & +c¢
11. The dig_gance of point (3,7) from x-axis is:

4oﬂ\l/S B) 7 (c) -3

12. Slope of Y-axis is:

{A}-zero (B) 1 (C) 2
13. Equation of horizontal line through (7,-9) is:

&y=-9 ® »y=7 ©) x=-9
14. (0,2) is solution of inequality.

(h)/?x+5y>7 (B) 3x-+5y<7 (C)©%
15. Centre of circle X* +y* +2gx+2fy+c =0 ig; %Q

@ (&.f) ®) (-¢./) é&w) (0,0)
16. Equation of Latus rectiim of parabola T , is:

() ry=-4a ® V7 "@ e

x2 2
17. Vertices of 7¢~ 55
o 1o
@y (0:%4) @ (0.25) © (#4.0)
18. The non zero vectors @and 2 are parallel if 4% 2js:
L
L
(A) zero ®) 1 ©) 2
19. cosé equals: »
'v.//
) a.b &) axb ©) laxd|

20. If any two vectors of scalar triple product are equal then its value is:

(A) -1 ‘ (’B{ero ) (©) 1
s@ pakcity.org %.:, 621-12-A3%

(D) € sinx+c
(D) -7
]I)(undeﬁned
(D) x=7

(o). x>0

) (~,~/)

-

ﬁ')/) X=d4a

) (£5,0)

(D) 3

N
jo-

(D)

(D) 2

Please visit for more data at: www.pakcity.org
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Inter - (Part-Il) -A-2021

I‘ROU. NO. Lo be filled in by the candiduie. (r or an SESE 'n ns)

Mathematics (Essay Type)

Time: 2:30 Howm o Marks: 80
c@ pakc:ty org %‘: Section -1

27 Write short answers of any eight parts from the following. 2x8=16
LS (X)) =22 find @), S(-2) @).f(x-1) ii. Find £im— - .
2 +x-6 ,
ii. Find £1m I;%gf' iv. Differentiate w.r.t "x“.[«/_ “"\/1*;"] .
v. Fmd; Ja+dy+7=0 vi. Differentiate w.r.t X cos/x ++/sinx

Vii.

Differentiate w.r.t"x" cot™ (i] viii. If y =Llog,, !j +bx+c then fmd—i%.
a :
- d'y
o
ix. [V =X € then find 7.
x* x o@
x. Apply Maclauren series, Prove thatcos x =1 ——2~+—~

4

=
—
~
_—
S
It
=
+
R
o
3
a
oq
P
=
S—
I
=]
-”
b
@
-
pach
3
a
_—

xii. Find the intervals in which f ( )|s incre
3. Write short answers of any ei s from the following. 2x8=16
dy 5 $ T
i. Using differential ﬁnd'g:r”,l 2y" =16 ii. Evaluate jx\/I -1dx
2
1—J§) N
iii. Evaluate I L—T_— dx . iv. Evaluate I sin”x dx
v :
ax+b s 3. [ 3sinx—cosx o
v. Evaluate J-axz 2 9bk 4 vi. Evaluate Ie sin? x .
dy y*+1
Vi, Soved_x R viii. Find an equation of the vertical line through (-5,3).
ix. Find an equation of the line through (-5,-3),(9,-1) x. Convert 4x+7y—=2=0in normal form.

xi. Find the area below the curve y = ‘{\ﬁ and above the X -axis between x =] andx =4.
xii. Find the mid point of the line segment joining lhe points A(3,1) , B(-2,-4).
4. Write short answers of any nine parls from the following. 2x9=18
i. Graph the solution set by shading of inequality 5x—4y < 20.
ii. Find equation of circle with centre at (\/E,—-?:\E) and radius 2-\5
iii. Write equation of tangent to the circle 3x? +-3y? +5x =13y +2'= 0;;t(1’1%) .

Please visit for more data at: www.pakcity.org
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viii.

Xii.
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. Find vertex of x* ~4x—~8y+4 =0

..Find point of intersection of conigs . 3x’ =4y’ =12 and 3p* = 2x% =7

Find equation of parabola whose focus is F(-3,4) and directrix'is 3x-4y+5=0
Find the unit veclor in the same direction of vector ¥ =[3,~4].

If AB = CD find the co-ordinate of the point A when points B,C,D are (1,2)(-2,5) and (4,11) respectively

ix. Find B+ ifu=i+2j~k v=3i-2j+2k, w=>5i-j+3k,
. Find a vector of length 5 in the direction opposite that of ¥=i=2) +3k

. Compute bxaif b=i—j+k a=2i+j-k.

Find the work done if the point at which the constant force /* =4i+3 -+ 5kis applied to an
object, moves from p, (3,1,~2) to p,(2,4,6).
ifa+b+c=0 then prove that axb=bxc=cxa. @@

Section -II
Note: Attempt any three questions from the following. g S 10x3=30

Ix-1 if x<1 X85

4 il x=1 '
5. (a) Iff(x) = i , then sh s continuous at X =1,
2x if x>1

. (a) Find the approximate

(b) 1fx=

a(1-1*) 2bt @@

1+ YT 1w e

e in the volume of a cube of the length of its each edge changes from 5 to 5.02.

(b) Determine the value of P such that the lines 2x =3y —1=0,3x—y~5=0 and 3x + py + 8 = 0 meet at a point.

3 1\
. (a) Evaluale_[[x__) dx.

2 X

(b) Minimize z = 2x + y subject to the constraints x+ y 23 , 7x+5y <35, x20, y20.

. (a) Write equations of two tangents from (2,3) to the circle x2 + y2 =0

(b) Prove by vector method sin (e~ /1) sin @ cos ff—cos ar sin /3
A )

. " "
. (@) Show thatcos(x+h) =cosx—hmnx—-2—|~cosx-l-—~'-sm G o TP

(b) Show that an equatin of the parabola with focus at (acosa,'asina)_and

T . ’ . 2 "
directrix xcos & + ysina+a=0 is (xsina - ycosa) =4a(xcosa +ysina)

c@ pakcity.org %‘, 622-12-A-

Please visit for more data at: www.pakcity.org
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w Inter. (Part-11)-A- 2019
Roll No.____._ __tobefilled in 6y the candidate. (For all sessions) PaperCode | 8 | 1 [ 9 | 1

Mathematics (objective Type)
Time: 30 Minutes
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

Marks: 20

1-1. The domain of g(_\-)= 2x -5 is:

(A) IR (B) the set of positive No.
(C) The set of negative real No. (D) The set of non-negative real No.
1\2

2 f:'m(l+—] =

n—ra n :

(A) € B) ¢ ©) ¢ @ ®) ¢

d
3 Ex—(x—S)(S—x)= @><i

O
2
(A) 2x+8 (8) —2x+8 @c; 2x-8 (D) x+8
dy _
4. 13x+4y+7=0,then z @@
3 ° - 3

(A) 4 € 3 (D} 4
5 gr—(secx)=

{A) secxtanx (B) secx (C) cosecx (D) —secxtanx
6. It f(x)=sinx  then 1*(0) =

(A) 0 (B) 1 (C) -1 (D) 2
7. Differential of V' is denoted by:

dy
a) d' ®) dr () dv (D)
l e 'y _

8. -‘- 1+ e =

(A € +e B ¢ +c €y € #e (D) =

Please visit for more data at: www.pakcity.org
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€

g j (nxdx =
:
{A) -1 8) 0 (c) 1 (D) e
10. The order of differential equation%"’%'h =0 is: D@pakCiW-Org %‘3
(A) 2 (B) 1 (€) 0 (D) 3
11. Ifaline "£" is parallel to x — axis, then inclination=
() 90° ®) o° (©) 30° (D) 45°

12. Ifaline "{"intersect X~ QXis at(a.O), then "g" is called of line"£".

(A) y-intercept (B) x—intercept (C) slope (D) inclination

43, Y =mx+c form of equaion of line: @@

(A) point slope (B) intercept GIO‘J) ab (D) slope intercept
14. An equaion of line bisecting I and 111 quadrant is: %
= =— r+2y=0 x=2y=0
@ *=Y By * = T © L T (D)
15. X=0 is the solution of the inequality. <>@
(a) 2x+1>0 (8) (©) 2x+150 (D) 2x-1<0
16. The centre of circle (X + yﬁ2)2 =26 is:
(A) (1,2) (B) (-1.2) ©) (-1,-2) (D) (1.-2)
17. The equation of directrix of the parabola ¥ * =day is:
IA) xX=qa (B) xX=-a ‘C) y=—-a {D’ yY=a
¥
18 The centre of Ellipse 7~ == 16 is:
iA) & 1 B i1.4 {C) (-1 4 (D) {0.C)
& 2 samouBOR Ihes S
fas -t _u Lo
@ " ®) © 1 o YU

-

Wi e H i &) - X .
"’"f'*ai"'vi ang 21— /= % a-2 serperdicutar, ther « =

Ar: (8) 1 (C) -1 o) 2

621-C12-A- 3¢

Please visit for more data at: www.pakcity.org
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Inter, (Part-11)-A- 2018

Roll No. 10 be filled in by the candidute. (FOT all Sessions) Paper Code y

: akcity.or %a
Mathematics (Objective Type) D@ pakcity.org
Time: 30 Minutes Marks: 20

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

question with Marker or pen ink on the answer sheet provided.

2
S ) =Vx 4 e (5 44) ¢ equanio
fay & B (8) Vx' -8 (© Vx'+8 (o) ¥ +8

sin7x

2. U

=0

is equal to:

(A) 1 (B) 7 © 7 @ (D) 0

i cos’ x O
3. i is equal to: o @

l+x+£+£+£+
% 2 3 |4
@A ¢ ©) tn(1+x)
dy
5. (x=al’, y=2at . then . is equal to:
! ]_ 2 L
(A) 8) | € ! D) 2
d 1
6. dxl\ax+p ) isequalto:
= _—a ’ 3
fhy eH ® (ax+b) © (ax+b)’ oy fr(ex+b)
7. If y =sin3x, then V; is equal to:
A) 9sin3x (B) -9sin3x (©) 9cos3x ©) ~9cos3x
o
8. J /1 —x? 4 is equal to:
T /g T T
A 5 B) 3 € 4 D) ¢

Please visit for more data at: www.pakcity.org
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14.

15.

16.

17,

18.

19.

20.
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dy _
. Solution of the differential equation ;- = COSX is:
(&) y=sinx+c 8) y=-sinx+c (©) y=cosx+c¢
fan x 2
.[ o (sec x) dx is equal to:
(a) €7 +c (B) €'-tanx+c (C) € .secx+c
2
2

!(x i l)dt is equal to:

3 14 5
(A 10 (B) 3 € 3

Point of concurrency of medians of a triasigle is called:

(A) orthocentre (B) in-centrk (C) ex{ent@

2 2
The lines represented by X + 2hxy +by” = 0, are real and CO ent if:

@) # > ab @) h=ab &%2 <ab

Equation of the line bisecting the first and third@g%nl is:

Ay Y=* ® Y=* (\o (=
Slope of the line which is perpe rto the line 2X — 4y +11=0 .
|
(A) 5 (8) 5 (C) 2
Point (1, 2), satisfies the inequality.
(A) 2x+y>5 (B) 2x+y25 (€) 2x+y<3

The centre of the circle (X*+3) +(y-2)" =16 , equals.

@A) (3.-2) 2 AR (-3,2) © (3,2)
The eccentricity of -J;— —x? =1 , equals.
- 2 Vs

A f5 (B) /5 € -
2i.(3jx k) is equl to:

(A) O (B) 2 (C) 4
cos@ , equals to:

A) a.b 8) |a><bl () axb

0 V= (n(sinx)+c

c@ pakcity.org %o

coty

(D) e +c

L2 | oo

(D)

(D) centroid

(D) W=ua+b
(D) Xy=c

(D) -2

(D) 2x+y<5

o (-3.-2)

-5

®

(D) 6
fax

Z

(D)

Please visit for more data at: www.pakcity.org
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Inter - (Port-11) -A-2018
Roll No. to be filled in by the candidate. (For all sessions)

Mathematics (Essay Type)

Time: 2:30 Hours Marks: 80
Section -1 3 s
2. Write short answers of any eight parts from the following. D@ pakCIty-Org %" 2x8=16
7 =3x'+7 ‘
i. Prove the identity sec #2x = 1 - tanh? x. i, Find f(x)if/ (x)=3x"+7
- fimir 2% iferenti x y=—ri]
iii. Evaluate 21 A" iv. Differentiate w.r.t =~ | m .
" dy . b . . . .2 . 4
V. Fmdz Jf xy+y =2, vi. Differentiate sin® x w.r.t cos” x.
=] x P \ X
vii. Differentiate €0S o jwrt 2 viii. Differentiate (£7x) w.rt x.
ix. Find /" (¥)it £ (x) = xe~. x. Find~~ 'f<>@ xy/lnx
1 0@
. . yz g Y= J; + — %
xi. Find 2, if J; g©
xii. Determine the interval in which function 'sé@easing or decreasing
for the mentioned domain.
3. Write short answers of any eight parts from the following. 2x8=16
Ix Jx_‘+])dx L, Js
i. Evaluate: 2 ii. Evaluate: .
“T+x
_2x [ ]
. |—=dx ‘ . e (—+€nx)dx
iii. Evaluate: - - iv. Evaluate: | x :
I ol
. |—dx . X3+ |dx
v. Evaluate: J- {=stnx vi. Evaluate: -':[ ) :
vii. Define the definite integral. vill. Solve the differential equation Y2* +¥dy =0
. <
ix. Define the corner point. X. Graph the solution set of linear inequality 2x+y<6 .

2
xi. Find%Y and@ iny =x +2X when X changes from 2 1o 1.8.

xii. Find the area between the X — axis and the curve y = x> +1lfromx=1tox=2.
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4. Write short answlrs of any nine parts; from the following.

i. Find A such that A(—1.h), B (3,2) and C(7.3) are collinear. - "
é% pakcity.org %o

2x9=18

ii. Find the centroid of the triangle having vertices (~2,3),(—4,1) and(3.5)

iii. Find an equation of the line through{—5,—3) and(9,-1).

iv. Find the lines represented by the homageneous equation 3x2 + Txy+2 y2 =0
v. Find measure of the angle between the lines represent by x’ —xy—6y> =0.
vi. Find the equation of circle with centre (\E, "3\/5) and radius 2J§ .

vii. Find the condition that the line Y = X +¢ may touch the circle x° + yi=a®.

viii. Derive equation of ellipse in standard form.

2
. Find centre and foci of the X —.Vf =9,

x. LetU=1+2j—k and V. =3i~2j+2k fina|U +2V].

xi. Finda,solhat'af+(a+1)1"-‘2k,=3- @§i®
xii. Find a vector perpendicular to ach of the vectors 4 = (‘@%E andb=4i+ 22 =k,

ection -1I
s following. 10x3=30

xiii. Find the value of 2£x 2.k

Note: Attempt any three questions fro

5. (a) Evaluate: 5_'3;1

dy ¥y ¥ _
(b) Show that 77, ‘;ir}[ =i

6. (a) Evaluate: I xt +4dx

(b) Find the lines reprebented by equation. Aiso find measure of

the angle betweenjthem. 2x? + 3xy-5 yz =
) 2
1 (x/3 4-2)
7. (a) Evaluate: I 7 dx .
¥ x
(b) Minimize Z =BAx+ y subject to the constraints 3x+5y 215, x+6y29 x>0, y20.
8. (a) Find an eqyation of parabola if focus is('"ll) , directrix YV = k;
{b) Use vectofs to prove that the diagonals of a parallelogram bisect each other.

9. (a) Find the centre, foci, eccentricity, vertices and directrices of 9x* + y* =18,

(b) Prove that SIn (a' +p ) =sina cos f+cosasin by using vector method.
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